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Full Marks: 50

The figures in the margin indicate full marks. ife T 707 FYIT 2 facs T3
Candidates should answer in their own words AT e IR 32 FGF NN e
and adhere to the word limit as practicable. e FRE !
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Answer any fwo questions from Group-A. Each question has to be written
within 250 words approximately
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What is meant by ‘fief” and ‘vassalage’?
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Trace the development of map drawing in Europe in the later part of the 15th

Century.
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Write a note on Erasmus as a key figure of Northern Humanism.
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Write a short note on the Anabaptists.
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What do you mean by the Tudor Revolution in Government?
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Answer any fwo questions from Group-B. Each question has to be written
within 400 words approximately
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How do you characterize the new merchants of 16th Century Europe?
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How did Humanism develop as a social ideology and a new vision of life? 8
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Discuss the features of Calvinism as a major branch of Protestantism. 8
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What were the ‘Enclosures’ in England? In what way did they represent a new 4+4
kind of agriculture?
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Comment on the character of the Empire of Charles V. 8
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Answer any ftwo questions from Group-C. Each question has to be written ~ 12x2 =24
within 600 words approximately
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Internal contradiction or long distance trade -— what according to you was mainly 12
responsible for the decline of feudalism in western Europe?
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What does the term ‘Renaissance’ signify? Explain why the Renaissance first 4+8
took place in Italy.
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Make an assessment of Martin Luther for the relative success of the reformation 12
in Germany.
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What do you mean by ‘Price Revolution’? What was its impact on the 16th 4+8
Century European economy and society?
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Why was the regime of Henry VII called ‘New Monarchy’? How new was this 6+6
‘New Monarchy’?
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